Three Dutchmen Puzzle
31 August 2024

Jim Stevenson

Presh Talwalkar presented an interesting puzzle ([1]) that
originated in the Ladies’ Diary of 1739-40 ([2]), was recast by
Henry Dudeney in 1917 ([3]), and further modified using
American money.

Each of three Dutchmen, named Hendrick, Elas, and Cornelius
has a wife. The three wives have names Gurtriin, Katriin, and Anna
(but not necessarily matching the husband’s names in that order).
All six go to the market to buy hogs.

Each person buys as many hogs as he or she pays dollars for
one. (1 hog costs $1, 2 hogs are $2 each, 3 hogs cost $3 each, etc.)
In the end, each husband has spent $63 more than his wife.
Hendrick buys 23 more hogs than Katriin, and Elas 11 more than Gurtriin. Now, what is the name of
each man’s wife?

Dudeny 1917

Solution

Let & be the number of the hogs the husband bought and w the number the wife bought. Then the
cost for the husband is /4 hogs x & dollars/hog and for the wife w hogs x w dollars/hog. We are given
that for all the husbands and wives,

W -w?=63
So (h+w)h-w)=631=213=97

which provides the three possibilities for the number of hogs bought by the three couples. Solving
the three cases yields:

63-1 21-3 9.7
h+w 63 21 9
h-w 1 3 7

h 63+1)/2=32 | 21+3)/2=12 | 9+7/2=8
w (63-1)2=31 1| (21-3)/2=9 O-712=1

Now 32 —9 =23 and 12 — 1 = 11, and no other differences between husbands and other wives
equal the ones stated in the problem. So that means Hendrick has 32 hogs, Katriin 9 hogs, Elas 12
hogs, and Gurtriin 1 hog. Therefore, the third husband Cornelius must have the 8 hogs, and the third
wife Anna must have the 31 hogs.

And so we have the following pairing of wives to husbands:

631 21-3 97
32 Hendrick 12 Elas 8 Cornelius
w 31 Anna 9 Katriin 1 Gurtriin
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Comment. The approach I took turns out to be the same that Talwalkar followed. But the original
solutions are all a bit more complicated (see Appendix below p.3). The link to the original solutions
given in The Diarian Miscellany, rather than directly to the Ladies’ Diary, came from Venkat’s post
on the problem ([4]).

The original problem statement is ([2]):

It should be noted that 1 guinea = 21 shillings in 1740. So the numbers come out the same where
dollars have been substituted for shillings. Also note that in this case men, and not women, both
posed and solved the problem, which became a trend in later issues of the Ladies’ Diary, since the
men had few similar publications.'

As usual, Dudeney’s solution ([3] pp.167-8) at first more or less gives the answer without an
explanation. Then he launches into a general discussion about writing numbers as the difference of
two squares, which finally ends with the technique used by Talwalkar and me (and Venkat).
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Appendix: The Diarian Miscellany - Ladies’ Diaries Solutions ([2])
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